Assignment 6: Integration
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8 otherwice Show that f is

2. (D) Let f : [0, 1]—R such that f(z) = {

1
integrable on [0, 1] and [ f(x)dz = 0.
0
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5. (D) Let g,(y) = { 01+y i 2 - ?i <1 Then prove that lim [ g,(y)dy = %
= n—-—:aoo 0
V}fhereas
J lim _gn(y)dy = 0.
0 n—-aoo

Digitally signed by MTH101R

MTH ’I O‘I R DN: cn=MTH101R, 0, ou,
email=gp@iitk.ac.in, c=IN

Date: 2011.03.05 00:32:57 +05'30"


gp
Text Box

gp
Text Box

gp
Text Box


Assignment 6 - Solutions

2. The solution is given in the lecture notes.

n—1

5. From the ratio test for the sequence we can show that lim * vy
n—aoQo

= 0, for each 0 <

y < 1. Therefore fol lim g,(y)dy = 0.

n n—1

1
For the other part, use integration by parts to see that [ %’er
0

N =

dy = +Ofﬁdy.

1

1 1
Note that | #dy < [y" = =5 — 0 as n — oo. Therefore, lim, .o [ gn(y)dy = 3.
0 0 0
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